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Adding a New Country Part 4: Additional
Data Required for Calculating Achievable
Potential

Do6asneHue HOBOM cTpaHbl. YacTb 4.
AononHutenbHble AaHHble, HeobxoauMble
ANA pacyeTa AOCTUXKMMOro NoTeHuMana

MALE SPEAKER: Hi, and welcome to
part 4 of our third video for adding
a new country. In the previous
video, we just finished up looking
at our technical potential results.
And now, we’re going to add in the

data necessary for calculating the

achievable potential.

IOKJIAUMK (MYXCKOM TOJIOC) : HoOpEe1

neHb ! IIpencraBjsgeM BalleMy BHMMAaHMIO
YeTBEPTYI0 YaCcTb HalIETO TPEeThLEeTO
BUIOEO O TOM, KaK J0OaBJISTH HOBYIO
CTpaHy. B npenbnymeM BUIOEO Mbl
PACCMOTPEeNM pe3yJIbTATH TEeXHUUECKOT O
norTeHuMasa. Tenepb Me DoOaBUM
IOaHHEE,

HeoOXOOMMEIe IJis pacueTa

JOCTMXVMMOTI'O IIOTEeHIIMaja.

So first, we’re going to go to
the advanced i1nputs country tab. And
here, we can specify the payback
acceptance of our sector. So, for
our residential sector, we’ll look
at annual payback, and we’ll look at
payback periods out to 10 years. And

we”ll say, maybe 90 percent of

people will accept a measure with a

payback period of one year. And

IaBanTe mnepemneM Ha BKJAIKYy C
IOOPODOHEIMY BXOIHBEIMM NAHHBEIMU O
CTpaHe. 3IecChb MBI MOXEM yKasaTh,
HAaCKOJIbKO IIpMeMJIEM YPOBEHb
OKYyIlaeMOCTM 3aTpaT HalleT'o CekKTopa.
Iriiga Hamwero XuJMIMHOIT'O CeKTOopa
PacCcMOTPMM T'OIOBYID OKYIIAaeMOCTb
3aTpar.

Bos3spMeM Hepmon OKyllaeMOoCTH,

paBuEM 10 Tomam. JomycTuMm, UYTO

@)

npuMepHo nnas 90 % JsomeM napamMeTp
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then, that acceptance significantly
decreases as the payback period

becomes longer.

U3MEepeHrd C IIepruoOoM OKYIIaeMOCTUM B
OIOMH T"OO BIIOJIHE IIpVeMIIeEM. 3aTeM 110
Mepe YyBeJIMYeHMA IIleproga OKYyIIaeMOCTN

CTeIlleHb IIPpMeMJIEMOCTNM CHMXaeTCHd.

And so, this i1s used to help
specify on a financial basis how
people will accept the different
measures that are included. But
then, on the advanced inputs program
tab, you can also specify several
parameters for evaluating how people

will participate in a program

irregardless of financials.

TakyuM 00Opa30M MOXHO OINPEeNeJIUTh,
ucxonda M3 QMHaAHCOBHEIX IIOKa3aTeJel,
Kak Jioau OyOyT NPUHMMATBL pPasHEE
npenjlaraeMele M3MEPEeHMda. 3aTeM Ha
BKJIaOKEe C [NOOPOOHEIMM BXOIHBEIMMU
IOaHHBEIMM IIPOI'PaMMBEI MOXHO TaKXe
yKa3aTh HECKOJIBKO IIapaMeTpoOB, UYTOOH
OIpoaHaIM3MpPOBaTh, Kak JIOOM OyOyT
yuacTBOBATE B IpoIpaMMme,

He3aBUCUMMO

OT QMHAHCOBEIX IokKal3aTeJiel.

And so, what we have are three
different parameters here that are
used to specify a participation S-
curve. And so, if I pull up in my

separate helper Excel file here,

just a visual of the S-curve, you

can see the S-curve has three

3mech y HaC eCTb TPM PasHBEIX
napamMeTpa, KOTOPBE MCIIOJNb3YITCS IJisd
IOCTPOeHMsa S—o0pas’HOM KPUBOMU
ydacTtusa. Eciay g NOoOTAHY OTHEeJIbHBIM
bann Excel ¢ u3obpaxeHueM S—-00Opa3HOMU
KPMUBOM,

BEl yBMAONTE, WTO 35Ta KpHMBad

VMeeT TPpM PasHBIX KOMIIOHeHTa. Y Hac
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different components. We have our
initial market penetration. We have
our maximum market penetration. And
then we have how quickly we
transition from our initial market
penetration to our maximum market

penetration.

eCcTh INepBOHauYaJIbHOE 3HaUeHMEe OxXBaTa
pHIHKa. Y HAC eCThb MaKCUMajibHOE
3HaUeHMe oxBaTa peHKa. Mel Takxe
3HaeM, KaK OBICTPO MHl IE€PEeXOnOVM OT
IIepPBOHAUYAJILHOTO 3HAUEHMS OXBaTa

PEIHKa K MaKCHMaJIbHOMY .

So, the maximum market
penetration is simply specified in a
straightforward way by just entering
whatever you see, what percentage of
your market is reachable. Now, for
the 1nitial market penetration, that
value is specified as the maximum
market penetration divided by a ramp
up rate. And so, If we say our ramp
up rate 1s four, then we’re assuming

our initial market penetration is

going to be 5 percent.

TaxuM 00paszsoM yKa3HBaETCH
MAaKCYMAJILHEI OXBAT PHHKA: BE IIPOCTO

BBOOMTE TO, UYTO 3HaAeEeTe, B IIPOLEHTHOM

OTHOWEHUM . [lepBOHAUYAJIbHOE 3HAaUeHUe
OxXBaTa pPHEHKA yKa3hBaeTCs Kak

MaKCHUMaJIbHOE 3HaueHMe, pas3leJieHHOe
Ha I[OBHBIIAKIMN kKO2QbOMUMeHT. Hanpumep,
Hall MOBHBIAKINUY KO30dMLIMEHT paBeH 4 —
TOT'Ia MBI IpelrnojiaraeM, UYTO Halue

IIepBOHa4YAJIbHOE 3HAUYEHNVEe OXBaTa PEHKA

oymer 5 %.

And then we have our ramp up

shape to help specify how quickly we

3aTeM HaM HYXHO chopMMpOBATH

KORQOMUMEHT IMNOBHIUIIEHMSI, YTOOH IOHSATH,
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transition from our initial to our
maximum market penetration. And,
while the ramp up shape, because
it’s part of an exponential exponent
in the tool, isn’t quite as
straightforward of a parameter. To
give you an idea for setting this
value, you can see a couple
different relations here. So, i1If you
specify a 30 percent ramp up shape,
that means by the fifth year that
you’re going to be at about 52
percent of your maximum market
penetration. So, a little over 10
percent by year five, and so on and
so forth for each of these different
levels of ramp up shape. 1 won’t
read them off, but we’ll assume,

maybe, a ramp up shape of about 40

percent here.

Kak OBICTPO MBI NEPEXOnNMM OT
IepBOHAYAJIBHOT'O 3HAUEeHMS OXBaTa
PBEIHKA K MaKCHMMallbHOMY. Ho
KOBQOMUMEHT IMNOBHIUIIEHMSI, TaK KaK OH
ABJIAETCS YACThI DKCIOHEHUMAJbHOTO
nmapaMeTpa B DTOM MHCTPYMEHTE, He
BIIOJIHE SABHBIM.

UToOH MMOHATLH, Kak

3aJaTb STO BHaAUeHMEe, HeoOXOoOMMO
IPOCJIEOUTBL HECKOJIbKO Pa3HBEIX CBSA3EM.
ecau 3alaTb KO>QOULIMEHT

Hanpuwmep,

noBwemeHma 30, B»TO BHAUMT, UTO KaXIHMN

ISTEM TOO BB OyIeTe IIOJIydaThb OKOJIO
52 % or MakCMMAaJBHOIO SBHAYEHUA
oxBaTa pPHHkKa. T. €. K I4TOMy TOmOYy
uyyThk OoJyipme 10 %, M Tak majee nJjd
KaxIoI'o M3 Pas3HBEX YPOBHEMU

KOonbOULUIMEHTA TOBHIIEHMS . [IPEnNOoJIOXNUM,

UyTO 3IeChb KOBOIUMUMEHT paBeH NPUMEPHO

40 %.

So that helps--so together with

this S-curve, as well as In the

IlaHHOe 3HaudueHue, S—-00pa3HEM

rpadmUk, YPOBEHL IPUEMIIEMOCTHU
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payback acceptance, the tool
calculates the achievable potential
by scaling the technical potential.
And so, the last parameter that we
need to enter is our assumed
incentive levels. And so, we’re
going to assume an incentive level
of about 50 percent. So this 1is
saying that the end user is
responsible for 50 percent, and
about 50 percent of the price of,
you know, the incremental cost of
the measure i1s going to be covered

by the utility.

OKyIlaeMOCTM 3aTpaT — BCe B3TO
MHCTPYMEHT MCIIOJIL3YyEeT IJiS pacueTa
IOCTUMXMMOT'O IIOTEeHlMaJla C yJdeToM
TeXHUUYeCKOoTO. IlocyienHuM MnapameTp,
KOTOPHEIM HaM HYXHO BBECTM, — DBTO
npennojlaraeMele YPOBHU
CTUMYJIMPOBaHMSA . [IpennojioxXuM, UTO
YPOBEHbL CTUMyJIMpoBaHMa paeen 50 %.
9TO 3HAUUT, YTO KOHEUHHM

o)

nonb30BaTeNns Hecer 50 % 3arpar, wu
okoJjio 50 % BaTpaT — »TO0 HoOaBOUHEHE

3aTpPpaTel, KOTOPEIE OynoyT IIOKPEIBATbLCHA

SHEPTETUUECKOV KOMIIaHUEMN.

And then finally, we just need
to enter the weighting for our
achievable potential, since you can
specify the weights independently
for the technical and achievable
potential. And, actually, before we

go look at our results, 1 just

realized we need to also fill iIn--

HakoHell, HaM HeOOXOIMMO BBECTU

BECOBOM KOZQIMLMEHT OJIS Hallero

JOCTVMXVMMOTI'O IIOTEeHIIMajsla, T. K. MH

MOXEeEM YKa3EIBaTb BE€COBEIE KOS(I)(I)MLIMGHTI:I

OTOEJIBHO IIJIA TEXHMYECKOI'O U

JOCTUMXVMOTI'O IIOTEHLIMAJIOB. Hpemne ueM

MBI PaCCMOTPVMM pe3yJibTaTbl, HAIIOMHIO,

4TO MEI TOJIBKO IIpendrojJjiaraeM, d4YTO
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we’ll just assume the same numbers
here for each of our programs. Of
course, In reality you want to base
that off of historical performance
of these programs. But just for

simplicity’s sake, we’ll assume the

same there.

UMOPE OOMHAKOBHE OJIS BCeX MIPOoTpaMM.
KoHeuHO, Ha caMOM [ejle OHM 3aBUCHAT
OT KOHKPETHOM pealu3alluy 3TUX

nporpaMm. HO 1JiS NPOCTOTH MBI
IPEnnojyIoXMM, UYTO B JaHHOM CJlydae

UMQPE. OOMHAKOBH.

So now, we can see that our
graphs for both the waterfall chart
and the bubble chart are fully
working for the achievable
potential. And while the shape of
both of these graphs are very
similar to our technical potential
graphs, we can see that the
magnitude of the results is

significantly smaller, as we would

VTak, Mbl BUIOVMM, 4YTO HalM
rpadukm — M KackamgHad IOuarpaMMma, u
IIYy3EIPEKOBAA —— IIOJIHOCTBIO MOI'YT OBIT b
MCIIOJIb30BAHE IJIS IOOCTUXUMOIO
noreHumraya. HecMmMoTpda Ha TO, UTO
(l)OpMa OTUX IMarpaMM OUEeHBb IIOXOXa Ha
bopMy HammMx OuarpaMm IOJid
TEXHMUYEeCKOIT'O IIOoTeHLIMaJla, MBI BVIOVM,
UTO pPes3yJIbTAaTE 3HAUUTEJIBHO HMXE, UYTO

VI OXMIOaJioCb IIJid IOOCTUXVIMOI'O

expect for the achievable potential. | norenunana.
All right. Thanks so much for OrsmuHo. Cnacubo 3a OPOCMOTP.
watching. And tune in for the final Briepeau — 3aKJIOUMTEJIbHAA YacCTb JIMHUMU

OLIEHKM CTPYKTYPHEIX 3JIEMEHTOB 33.
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